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MIXTURE OR ALLIGATION

1. In what proportion, must wheat at rs 6.20

per kg be mixed with wheat at rs 7.20 per kg ,


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_TY7eRYRvenGo

so that the mixture be worth rs 6.50 per kg ?

o Watch Video Solution

2. A mixture of a certain quantity of milk and
16 L of water is worth 0.75 per liter. If pure milk
be worth 2.25 per lite , then how much milk is

there in the mixture ?

° Watch Video Solution



https://dl.doubtnut.com/l/_TY7eRYRvenGo
https://dl.doubtnut.com/l/_wPOFIiUjAwd0

3. If 50 L of milk solution has 40 % milk in it ,
then how much milk should be added to make

it 60 % in the solution ?

o Watch Video Solution

4. A container contains 40 L of milk .from this
container, 4 L of milk was taken out and
replaced by water . This process was further
repeated two times. How much milk is now

there in the container ?

| & I


https://dl.doubtnut.com/l/_4nPVRaT8fA9I
https://dl.doubtnut.com/l/_CcqWu4td0Vec

| ¥ Watch Video Solution |

5.1n a container , milk and water are present in
the ratio 7: 5. If 15 L water is added to this
mixture, the ratio of milk and water becomes 7
:8. find the quantity of water in the new

mixture.

o Watch Video Solution

6. 2 equal containers have milk and water in

the ratio 2: 1 and 3 :1. Respectively , If both


https://dl.doubtnut.com/l/_CcqWu4td0Vec
https://dl.doubtnut.com/l/_qfi5fvADZiFl
https://dl.doubtnut.com/l/_XPlFPaOqfe1Q

containers are emptied into a bigger
container, then find the ratio of milk to water

in bigger container ?

o Watch Video Solution

7. In what proportion, must wheat at rs 6.20
per kg be mixed with wheat at rs 7.20 per kg ,

so that the mixture be worth rs 6.50 per kg ?

o Watch Video Solution



https://dl.doubtnut.com/l/_XPlFPaOqfe1Q
https://dl.doubtnut.com/l/_aPXIuS8VXmKH

8. A mixture of a certain quantity of milk 16 L of
water is worth ? 0.75 per liter. If pure milk be
worth? 2.25 per lite , then how much milk is

there in the mixture ?

° Watch Video Solution

9. If 50 L of milk solution has 40 % milk in it ,
then how much milk should be added to make

it 60 % in the solution ?

° Watch Video Solution



https://dl.doubtnut.com/l/_0KK0zNpfSAxU
https://dl.doubtnut.com/l/_xrChojGB5Uwy

10. A container contains 40 L of milk .from this
container, 4 L of milk was taken out and
replaced by water . This process was further
repeated two times. How much milk is now

there in the container ?

o Watch Video Solution

11. In a container , milk and water are present
in the ratio 7: 5. If 15 L water is added to this

mixture, the ratio of milk and water becomes 7


https://dl.doubtnut.com/l/_xrChojGB5Uwy
https://dl.doubtnut.com/l/_uIznL02u4Rbi
https://dl.doubtnut.com/l/_R58qhz7WxtZl

:8. find the quantity of water in the new

mixture.

° Watch Video Solution

12. 2 equal containers have milk and water in
the ratio 2: 1 and 3 :1 . Respectively , If both
containers are emptied into a bigger
container, then find the ratio of milk to water

in bigger container ?

° Watch Video Solution



https://dl.doubtnut.com/l/_R58qhz7WxtZl
https://dl.doubtnut.com/l/_H6fcBYJHIZ7K

Multi Concept

1. Jagatram, a milk seller has certain quantity
of milk to sell. In water ratio he should mix
water to gain 5% by selling the mixture at the
cost price ?

A 1:10

B.1:5

C.1:20

D.1:15


https://dl.doubtnut.com/l/_bUatxUstVeol

Answer: C

o Watch Video Solution

2. IF the price of three types of rice are 480 576
and 696 per quintal, then find the ratio in
which these types of rices should be mixed, so

that the resulant mixture cost 564 per quintal

?

A.0.92440972222222

B. 1.1764699074074


https://dl.doubtnut.com/l/_bUatxUstVeol
https://dl.doubtnut.com/l/_yY9Mz5E9riMM

C. 0.5884375

D.11:77:7

Answer: D

o Watch Video Solution

3. Jagatram, a milk seller has certain quantity
of milk to sell. In water ratio he should mix
water to gain 5% by selling the mixture at the

cost price ?


https://dl.doubtnut.com/l/_yY9Mz5E9riMM
https://dl.doubtnut.com/l/_btfjZZyG3TsF

A 1:10

B.1:5

C.1:20

D.1:15

Answer: C

o Watch Video Solution

4. IF the price of three types of rice are 480
576 and 696 per quintal, then find the ratio in

which these types of rices should be mixed, so


https://dl.doubtnut.com/l/_btfjZZyG3TsF
https://dl.doubtnut.com/l/_56cQSkoTFNUP

that the resulant mixture cost 564 per quintal

?

A.0.92440972222222

B. 1.1764699074074

C. 0.5884375

D.11:77:7

Answer: D

° Watch Video Solution

Exercise Base Level Questions


https://dl.doubtnut.com/l/_56cQSkoTFNUP

1. In what ratio must a grocer mix two types of

rice costing rs7.50 per kg and rs10 per kg ,

respectively , so as to get a mixture worth rs

8.25 per kg ?

A 4:3

B.7:3

C.8:3

D.2:5

Answer: B



https://dl.doubtnut.com/l/_hATqUuC1JWB7

\ o Watch Video Solution

2.In what proportion must a grocer mix wheat

at rs 2.04 per kg and rs 2.88 per kg so as to

make a mixture of worth rs2.52 per kg?

A2:3

B.3:2

C.5:3

D.3:4

Answer: D


https://dl.doubtnut.com/l/_hATqUuC1JWB7
https://dl.doubtnut.com/l/_dlaLCoM3mCWV

° Watch Video Solution

3. A milkman bought 15 L of milk are mixed 3 L
of water in it. If the price per kg of the mixture
becomes 22, what is cost price of the milk per
litre?

A. 28.00

B. 26.40

C.24.00

D. 22.60


https://dl.doubtnut.com/l/_dlaLCoM3mCWV
https://dl.doubtnut.com/l/_BjK9byEahmbV

Answer: B

o Watch Video Solution

4. A mixture of certain quantity of milk with 8 L
of water is worth 45 paise per litre. If pure milk
be worth 54 paise per litre, how much milk is
there in the mixture?

A.40L

B.35L

C.25L


https://dl.doubtnut.com/l/_BjK9byEahmbV
https://dl.doubtnut.com/l/_JoC8qH39UwYu

D.45L

Answer: A

° Watch Video Solution

5. The ratio of milk and water in mixtures of
four containers are 5:3, 2:1, 3:2 and 7:4 re
spectively. In which container is the quantity of

milk, relative to water, minimum?

A. First


https://dl.doubtnut.com/l/_JoC8qH39UwYu
https://dl.doubtnut.com/l/_lJPD2V0phjvh

B. Second

C. Third

D. Fourth

Answer: C

o Watch Video Solution

6. A merchant has 2000 kg of rice, one part of
which he sells at 36%profit and the rest at 16%
profit.He gains 28% on the whole.Find the

quantity sold at 16%.


https://dl.doubtnut.com/l/_lJPD2V0phjvh
https://dl.doubtnut.com/l/_DKCKCA1Imvz3

A. 400 kg

B. 300 kg

C. 900 kg

D. 800 kg

Answer: D

o Watch Video Solution

7. A trader has 50 kg of pulses, part of which

he sells at 8% profit and rest at 18% profit. He


https://dl.doubtnut.com/l/_DKCKCA1Imvz3
https://dl.doubtnut.com/l/_xAMb8lFz0Bdc

gains 14% on the whole.What is the quantity

sold at 18% profit?

A.30 kg

B.35 kg

C.40 kg

D. 60 kg

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_xAMb8lFz0Bdc

8. A person had ¥ 8400.He lent a part of it at
. 1 .
4% and the remaining at 3§ % simple
interest. His total annual income was ¥ 294.
Find the sum he lent at 4%
A. 2310
B. 2110

C. 2500

D. 2100

Answer: D

‘ ° Wiak lh \tAAaA CAaliikianm



https://dl.doubtnut.com/l/_ELOVQZQTsLFG
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9. A merchant had 50 kg of pulse.He sells ane
part at a profit of 10% and other at 5% loss.
Overall he had a gain of 7%. Find the quantity
of pulses, which he sold at 10% profit and 5%
loss.

A.40 kg, 10 kg

B. 40 kg, 15 kg

C.40 kg, 12 kg

D. 40kg, 9 kg


https://dl.doubtnut.com/l/_ELOVQZQTsLFG
https://dl.doubtnut.com/l/_NowWH5Od8E7t

Answer: A

o Watch Video Solution

10. A goldsmith has two qualities of gold, one
of 24 carats and another of 32 carats purity.In
whta proportion should he mix both to make

an ornament of 30 carats purity?

Al:3
B.2:3

C.3:2


https://dl.doubtnut.com/l/_NowWH5Od8E7t
https://dl.doubtnut.com/l/_Dtb3wldv5NZt

D.1:5

Answer: A

° Watch Video Solution

11. 300g of salt solution has 40% salt in it. How
much salt should be added to make it 50% in
the solution?

A.40g

B.60 g


https://dl.doubtnut.com/l/_Dtb3wldv5NZt
https://dl.doubtnut.com/l/_n7sYABMceZLu

C.70 g

D.80 g

Answer: B

o Watch Video Solution

12. 600 g of sugar solution has 40% sugar in it.
How much sugar should be added to make it

50% in the solution?

A.160 g


https://dl.doubtnut.com/l/_n7sYABMceZLu
https://dl.doubtnut.com/l/_PyJWRVu1KJ0q

B.120 g

C.130g

D.140 g

Answer: B

o Watch Video Solution

13. A milk seller has a milk of rs 100 per litre.In
what ratio should water be mixed in that milk,
so that after selling the mixture at rs 80 per

litre, he may get a profit of 50%?


https://dl.doubtnut.com/l/_PyJWRVu1KJ0q
https://dl.doubtnut.com/l/_q64lB7mq8tGj

AT:8

B.7:9

C.9:7

D.7:5

Answer: A

o Watch Video Solution

14. How many kilograms of tea worth Rs 25 per
kg must be blended with 30kg of tea worth Rs

30 per kg, so that by selling the blended


https://dl.doubtnut.com/l/_q64lB7mq8tGj
https://dl.doubtnut.com/l/_tw3DV6LTTlyX

variety at Rs 30 per kg, there should be a gain

of 10%?

A. 36 kg

B. 40 kg

C.32kg

D.42 kg

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_tw3DV6LTTlyX

15. In two types of stainless steel, the ratio of
chromium and steel are 2:11 and 5:21
respectively. In what proportion should the
two types be mixed, so thta the ratio of

chromium to steel in the mixed type become

7:32?

Al:2

B.1:3

C.2:3

D.3:4


https://dl.doubtnut.com/l/_kdQeGl05oApT

Answer: A

° Watch Video Solution

16. A vessel is filled with milk and water. 70% of
milk and 30% of water is taken out of the
vessel.lt is found that the vessel is vacated by
55% and has 160 L mixture.Find the quantity of

milk and water in this mixture.

A. Milk =100 L, Water =60 L

B. Milk =50 L, Water =110 L


https://dl.doubtnut.com/l/_kdQeGl05oApT
https://dl.doubtnut.com/l/_7DLpoPMtmnFZ

C.Milk=70 L, Water =90 L

D. Milk = 60 L, Water =100 L

Answer: A

o Watch Video Solution

17. In what ratio must a grocer mix two types
of rice costing rs7.50 per kg and rs10 per kg ,
respectively , so as to get a mixture worth rs

8.25 per kg ?


https://dl.doubtnut.com/l/_7DLpoPMtmnFZ
https://dl.doubtnut.com/l/_jWP67da6SMep

A4:3

B.7:3

C.8:3

D.2:5

Answer: B

o Watch Video Solution

18. In what proportion must a grocer mix
wheat at rs 2.04 per kg and rs 2.88 per kg so

as to make a mixture of worth rs2.52 per kg?


https://dl.doubtnut.com/l/_jWP67da6SMep
https://dl.doubtnut.com/l/_NE50MZWcZ8mk

A 2:3

B.3:2

C.5:3

D.3:4

Answer: D

o Watch Video Solution

19. A milkman bought 15 L of milk are mixed 3 L

of water in it. If the price per kg of the mixture


https://dl.doubtnut.com/l/_NE50MZWcZ8mk
https://dl.doubtnut.com/l/_ufy562TC3as4

becomes 22, what is cost price of the milk per

litre?

A. 728.00

B. 726.40

C. 724.00

D. 722.60

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ufy562TC3as4

20. A mixture of certain quantity of milk with 8
L of water is worth 45 paise per litre. If pure
milk be worth 54 paise per litre, how much
milk is there in the mixture?

A.40L

B.35L

C.25L

D.45L

Answer: A

‘ ° Wiak hh \AAaA CAaliikianm



https://dl.doubtnut.com/l/_AOSA5TCQfmNp

YVOILLIL VI INAGINIE L J

21. The ratio of milk and water mixture of four
containers are 5:3,2:1,3:2 and 4:5
respectively. In which container, is the quantity
of milk relative to water minimum ?

A. First

B. Second

C. Third

D. Fourth


https://dl.doubtnut.com/l/_AOSA5TCQfmNp
https://dl.doubtnut.com/l/_7E8kGm4c6Kmz

Answer: D

o Watch Video Solution

22. A merchant has 2000 kg of rice, one part of
which he sells at 36%profit and the rest at 16%
profit.He gains 28% on the whole.Find the
quantity sold at 16%.

A. 400 kg

B. 300 kg

C. 900 kg


https://dl.doubtnut.com/l/_7E8kGm4c6Kmz
https://dl.doubtnut.com/l/_4AYdJquPJd42

D. 800 kg

Answer: D

° Watch Video Solution

23. A trader has 50 kg of pulses, part of which
he sells at 8% profit and rest at 18% profit. He
gains 14% on the whole.What is the quantity

sold at 18% profit?

A.30 kg


https://dl.doubtnut.com/l/_4AYdJquPJd42
https://dl.doubtnut.com/l/_Gh1a327fCGAx

B.35 kg

C.40 kg

D. 60 kg

Answer: A

o Watch Video Solution

24. A person had ¥ 8400.He lent a part of it at
. 1 :

4% and the remaining at 3§ % simple

interest. His total annual income was ¥ 294.

Find the sum he lent at 4%


https://dl.doubtnut.com/l/_Gh1a327fCGAx
https://dl.doubtnut.com/l/_EZKSnWSRk6YS

A. 2310

B. 2110

C. 2500

D. 2100

Answer: D

o Watch Video Solution

25. A merchant had 50 kg of pulse.He sells ane
part at a profit of 10% and other at 5% loss.

Overall he had a gain of 7%. Find the quantity


https://dl.doubtnut.com/l/_EZKSnWSRk6YS
https://dl.doubtnut.com/l/_A3XSbuVzNZ8o

of pulses, which he sold at 10% profit and 5%

loss.

A. 40 kg, 10 kg

B. 40 kg, 15 kg

C.40 kg, 12 kg

D. 40kg, 9 kg

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_A3XSbuVzNZ8o

26. A goldsmith has two qualities of gold, one
of 24 carats and another of 32 carats purity.In
whta proportion should he mix both to make
an ornament of 30 carats purity?

A 1l:3

B.2:3

C.3:2

D.1:5

Answer: A

‘ ° Wiadk hh \tAAaA CAaliikianm



https://dl.doubtnut.com/l/_mznL44hHT3cs
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27. 300g of salt solution has 40% salt in it.

How much salt should be added to make it

50% in the solution?

A.40g

B.60 g

C.70 g

D.80 g

Answer: B

| s |


https://dl.doubtnut.com/l/_mznL44hHT3cs
https://dl.doubtnut.com/l/_bKP0ioP7pnZE

| @ Watch Video Solution ]

28. 600 g of sugar solution has 40% sugar in
it. How much sugar should be added to make
it 50% in the solution?

A.160 g

B.120 g

C.130g

D.140 g

Answer: B



https://dl.doubtnut.com/l/_bKP0ioP7pnZE
https://dl.doubtnut.com/l/_jg8IbYhGghzr

\ o Watch Video Solution

29. A milk seller has a milk of rs 100 per litre.In
what ratio should water be mixed in that milk,
so that after selling the mixture at rs 80 per
litre, he may get a profit of 50%?

A 7:8

B.7:9

C.9:7

D.7:5


https://dl.doubtnut.com/l/_jg8IbYhGghzr
https://dl.doubtnut.com/l/_0ZrC260cScpY

Answer: A

o Watch Video Solution

30. How many kilograms of tea worth Rs 25 per
kg must be blended with 30kg of tea worth Rs
30 per kg, so that by selling the blended
variety at Rs 30 per kg, there should be a gain

of 10%?

A. 36 kg

B. 40 kg, 15 kg


https://dl.doubtnut.com/l/_0ZrC260cScpY
https://dl.doubtnut.com/l/_8910co7VY65C

C.32kg

D.42 kg

Answer: A

o Watch Video Solution

31. In two types of stainless steel, the ratio of
chromium and steel are 2:11 and 5:21
srespectively. In what proportion should the

two types be mixed, so thta the ratio of


https://dl.doubtnut.com/l/_8910co7VY65C
https://dl.doubtnut.com/l/_7fio6hGemRen

chromium to steel in the mixed type become

7:32?

Al:2

B.1:3

C.2:3

D.3:4

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_7fio6hGemRen

32. A vessel is filled with milk and water. 70% of
milk and 30% of water is taken out of the
vessel.lt is found that the vessel is vacated by
55% and has 160 L mixture.Find the quantity of
milk and water in this mixture.

A. Milk =100 L, Water =60 L

B. Milk =50 L, Water =110 L

C. Milk=70 L, Water =90 L

D. Milk = 60 L, Water =100 L

Answer: A


https://dl.doubtnut.com/l/_ARwWAtmHJKH1

° Watch Video Solution

Higher Skill Level Questions

1. A butler stole wine from a butt of sherry

which contained 80% of spirit and he replaced
it by wine containing only 32% spirit. Then, the
butt was of 48% strength only. How much of

the butt did he steal?

ol |


https://dl.doubtnut.com/l/_ARwWAtmHJKH1
https://dl.doubtnut.com/l/_h4PPBVPSbeOB
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Answer: D

o Watch Video Solution

2. In a mixture of 60L the ratio of acid and
water is 2: 1.If the ratio of acid and water is to
be 1:2, then the amount of water(in litre) to

be added to the mixture is


https://dl.doubtnut.com/l/_h4PPBVPSbeOB
https://dl.doubtnut.com/l/_Ag01BGV644TO

A. 55

B. 60

C.50

D. 45

Answer: B

° Watch Video Solution

3. Tea worth Rs 126 per kg and Rs 135 per kg

are mixed with a third variety In the ratio


https://dl.doubtnut.com/l/_Ag01BGV644TO
https://dl.doubtnut.com/l/_pkQHKNp1ref3

1:1:2. If the mixture is worth Rs 153 per kg,

the price of the third variety per kg will be

A.169.5

B.170.0

C.175.5

D. 180.0

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_pkQHKNp1ref3

4. A butler stole wine from a butt of sherry
which contains 15% of spirit and he replaced
what he had stolen by wine containing 6% of
spirit.The butt was then 9% strong onlyHow

much of the butt did he steal?

2
A.g

1
B. &

2
C. =
p. 2
5

Answer: A


https://dl.doubtnut.com/l/_lbJPzYiQgxr6

o Watch Video Solution

5.4 L are drawn from a container full of milk
and then is filled with water.This operation is
performed three more times. The ratio of the
quantity of milk in the container and that of
water is 16:65.How much milk did the

container hold initially?

A 24 L
B.12 L

C.15L


https://dl.doubtnut.com/l/_lbJPzYiQgxr6
https://dl.doubtnut.com/l/_f8y249FD4noP

D.25L

Answer: B

° Watch Video Solution

6. A container is filled with liquid, 6 part of
which are water 10 part milk. How much of the
mixture must be drawn off and replaced with
water so that the mixture may be half water

and half milk?

Al
3


https://dl.doubtnut.com/l/_f8y249FD4noP
https://dl.doubtnut.com/l/_pAtpiEJpcTZD
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Answer: C

o Watch Video Solution

7. A container contains a mixture of two liquid
A and B in the ration of 7:5. When 9L of
mixture is drawn off and the container is filled

with B, the ratio of A and B becomes 7:09.


https://dl.doubtnut.com/l/_pAtpiEJpcTZD
https://dl.doubtnut.com/l/_KmGpIpGWHmP3

Howe many litres of liquid A was contained by

the container initially?

A.10

B. 20

C. 21

D. 25

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_KmGpIpGWHmP3

8. 60 kg of certain variety of rice at 32 per kg is
mixed with 48 kg of another variety of rice and
the mixture is sold at he average price of 28
per kg.If there be no profit or loss due to the
new sale price, then the price of the second

variety of rice is

A. 25.60perkg

B. 25perkyg

C. 23perkg

D. 30perkg


https://dl.doubtnut.com/l/_9XJigoreowcT

Answer: C

o Watch Video Solution

9. A butler stole wine from a butt of sherry
which contained 80% of spirit and he replaced
it by wine containing only 32% spirit. Then, the
butt was of 48% strength only. How much of

the butt did he steal?

(1IN JURRIT NG


https://dl.doubtnut.com/l/_9XJigoreowcT
https://dl.doubtnut.com/l/_7gBzA7F5106d

N
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Answer: D

o Watch Video Solution

10. . In a mixture of 60 litres, the ratio of milk
and water is 2:1. If the ratio of milk and water
is to bel:2, then the amount of water to be

further added is:


https://dl.doubtnut.com/l/_7gBzA7F5106d
https://dl.doubtnut.com/l/_qGk6sLerEYmr

A. 55

B. 60

C.50

D. 45

Answer: B

° Watch Video Solution

11. Tea worth Rs 126 per kg and Rs 135 per kg

are mixed with a third variety in the ratio


https://dl.doubtnut.com/l/_qGk6sLerEYmr
https://dl.doubtnut.com/l/_4qugRuIWLQFv

1:1:2. If the mixture is worth Rs 153 per kg,

the prices of the third variety per kg will be

A. Rs169.5

B. Rs170.0

C. Rs175.5

D. Rs180.0

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_4qugRuIWLQFv

12. A butler stole wine from a butt of sherry
which contains 15% of spirit and he replaced
what he had stolen by wine containing 6% of
spirit.The butt was then 9% strong onlyHow

much of the butt did he steal?

2
A.g
1
B. &
2
C. =
p. 2
5

Answer: A


https://dl.doubtnut.com/l/_gXYADvZhiINK

o Watch Video Solution

13. 4 L are drawn from a container full of milk
and then is filled with water.This operation is
performed three more times. The ratio of the
quantity of milk in the container and that of
water is 16:65.How much milk did the

container hold initially?

A 24 L

B.12 L

C.15L


https://dl.doubtnut.com/l/_gXYADvZhiINK
https://dl.doubtnut.com/l/_optCxIVhh3kC

D.25L

Answer: B

° Watch Video Solution

14. A container is filled with liquid, 6 part of
which are water 10 part milk. How much of the
mixture must be drawn off and replaced with

water so that the mixture may be half water

and half milk?

Al
3


https://dl.doubtnut.com/l/_optCxIVhh3kC
https://dl.doubtnut.com/l/_q1dUpy9L7gC7

@
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Answer: C

o Watch Video Solution

15. A container contains a mixture of two
solution A and B in the ration of 7: 5. When 9L
of mixture is drawn off and the container is

filled with B, the ratio of A and B becomes 7: 9.


https://dl.doubtnut.com/l/_q1dUpy9L7gC7
https://dl.doubtnut.com/l/_jUyAEwAJxdON

How many litres of solution A was contained

by the container initially?

A.10

B. 20

C. 21

D. 25

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_jUyAEwAJxdON

16. 60 kg of certain variety of rice at rs 32 per
kg is mixed with 48 kg of another variety of
rice and the mixture is sold at he average price
of rs 28 per kg.If there be no profit or loss due
to the new sale price, then the price of the

second variety of rice is

A. Rs25.60perkg

B. Rs25perkg

C. Rs23perkg

D. Rs30perkg


https://dl.doubtnut.com/l/_vDOIFvBPiSc5

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_vDOIFvBPiSc5

